SM720R [PO6-INST.SM720R
g SETUP INSTRUCTIONS

FIGURE 1 FIGURE 2 FIGURE 3

FIGURE 5 ~ FIGURE 6 N . FIGURE 7

INSTALL BRACKETS
HERE FOR LEFT RETURN

: INSTALL BRACKETS
INSTRUCTIONS: HERE FOR RIGHT RETURN
1.Unpack all from box.

2. Install HEX HEAD LEVELER (A) (Fig.1).

3. Instell SUPPORT (2) using two BOLT 14-20men X 30 mm (B).(Fig.2) No: Haprdware List SM720R | Qv

4. Install eight DRYWALL 6 X 1 1/4" (D) to attach fo the LEG (Fig.3) TEX READ LEVELER

[*]

3. Place the top (3) face down on a soft surfice (can use the protective foam) {Fig.4) BOLT 17430 o X 30mm 2

4. Locate the LEG (1), referencing the circular noteh, as showa (Fig 4).
4mm ALLEN WRENCH I

5, Secure the LEG (1) to the TOP (3} using 51X BOLT 1/4-20mm X 30mm (B) (Fig.4)
DRYWALLG6X 1 1A 8

6. Place Wire Management Clips wherc convenient, (G},
#EX | 1/4 PHIL RND WASHER SCREW 12

7. FOR RETURN INSTALLATION OPTION Mount two (2) Brackets ("F") to the DESK Top using six (6) !-1/4" Phil screws ("E) (Fig. 6. Detail 1)
RETURN BRACKET

ERLONCE

8.Position the Retum oato the brackets mounted in the step (7} and secure using six1-1/4" Phil screw ("E") (Fig.7.}
2
WIRE MANAGEMENT CLIP 2




